
Run-on Sentences  
5XQ-RQ�VHQWHQFHV�DUH�ZKHQ�WZR�RU�PRUH�PDLQ�FODXVHV�DUH�QRW�MRLQHG�E\�D�FRQMXQFWLRQ�RU�VHSDUDWHG�E\�D�

SHULRG�RU�VHPLFRORQ��7KH\�DUH�DOVR�NQRZQ�DV�IXVHG�VHQWHQFHV��&RPPD�VSOLFHV�DUH�RIWHQ�IRXQG�LQ�D�UXQ-

RQ�VHQWHQFH��D�FRPPD�VSOLFH�LV�ZKHQ�D�FRPPD�LV�LPSURSHUO\�XVHG�WR�FRQQHFW�WZR�LQGHSHQGHQW�FODXVHV� 

Types of run-on sentences  

 Example of a fused sentence: ,�DP�ZULWLQJ�P\�HVVD\�WKH�HVVD\�ODFNV�SURSHU�SXQFWXDWLRQ�� 

 Correct example: ,�DP�ZULWLQJ�P\�HVVD\��7KH�HVVD\�KDV�JUHDW�SXQFWXDWLRQ�� 

 Example of a comma splice: ,�KDYH�WZR�FRPSOHWH�WKRXJKWV��,�DP�LPSURSHUO\�FRPELQLQJ�

WKHP�ZLWK�D�FRPPD�� 

 Correct example: ,�KDYH�WZR�FRPSOHWH�WKRXJKWV��DQG�,�DP�FRPELQLQJ�WKHP�ZLWK�D�FRPPD�

DQG�FRQMXQFWLRQ�� 

 Correct example: ,�KDYH�WZR�FRPSOHWH�WKRXJKWV��,�DP�FRPELQLQJ�WKHP�ZLWK�D�FRPPD�DQG�

D�FRQMXQFWLRQ�� 

Two independent clauses that have a common idea:  

 Example: 7KLV�PD\�EH�KDUG�WR�XQGHUVWDQG��\RX�VKRXOG�NHHS�SUDFWLFLQJ�� 

 Correct example: 7KLV�PD\�EH�KDUG�WR�XQGHUVWDQG��QHYHUWKHOHVV��\RX�VKRXOG�NHHS� 

SUDFWLFLQJ�� 

Two independent clauses joined with a transitional expression (however, therefore, 

etc.):  

 Example: ,�DP�ZULWLQJ�JUHDW�FRQWHQW��KRZHYHU��P\�SXQFWXDWLRQ�FRXOG�EH�IL[HG�� 

 Correct example: ,�DP�ZULWLQJ�ZLWK�JUHDW�SXQFWXDWLRQ��KRZHYHU��P\�FRQWHQW�FRXOG�EH� 

EHWWHU�� 

There is a pronoun linking two independent clauses:  

 Example: 3XQFWXDWLRQ�LV�YHU\�FRQIXVLQJ��LW�PDNHV�PH�XSVHW�� 

 Correct example: 3XQFWXDWLRQ�LV�YHU\�XVHIXO��,W�KHOSV�PH�ZULWH�SURSHU�VHQWHQFHV�� 

How to fix run-on sentences  
Use a period to divide the text into complete sentences.  

 Correct example: 7KHUH�DUH�PDQ\�VHQWHQFHV�DQG�,�DP�VHSDUDWLQJ�WKHP�ZLWK�SHULRGV��,�DP�

EUHDNLQJ�WKHP�XS�WR�PDNH�LW�HDVLHU�IRU�WKH�UHDGHU�WR�XQGHUVWDQG�� 



Use a semicolon to show that the two sentences are connected.  

 Correct example: ,�DP�EUHDNLQJ�XS�VHQWHQFHV��WKLV�PDNHV�LW�HDVLHU�IRU�WKH�UHDGHU�WR�XQGHUVWDQG�� 

Use and, but, or, for, nor, or yet to connect the two thoughts.  

 Correct example: ,�KDYH�WZR�FRPSOHWH�WKRXJKWV�VR�,�DP�FRQQHFWLQJ�WKHP�ZLWK�D�FRQMXQFWLRQ�� 

Rewrite one of the two sentences so that it cannot stand without the other.  

 Correct example: ,�ZDV�ZULWLQJ�P\�VHQWHQFH�DQG�VDZ�WKDW�WKH�VHFRQG�KDOI�QHHGHG�WKH�ILUVW�� 

Test Yourself  

(GLW�WKH�IROORZLQJ�VHQWHQFHV�DV�QHHGHG�WR�DYRLG�UXQ-RQV��IUDJPHQWV��DQG�FRPPD�VSOLFHV��$Q�DQVZHU�

NH\�LV�ORFDWHG�DW�WKH�ERWWRP�RI�WKH�SDJH�� 

�� 0\�PRWKHU�ZRUNV�DW�D�EDNHU\�VKH�DOVR�PDNHV�XV�EUHDNIDVW�HYHU\�PRUQLQJ�� 

$� EDNHU\��VKH� 

%� EDNHU\��VKH� 

&� 7KLV�VHQWHQFH�LV�FRUUHFW�� 

������,�KDYH�EHHQ�VR�WLUHG�ODWHO\�DOO�,�ZDQW�WR�GR�LV�VOHHS�� 

$� ODWHO\��$OO� 

%� ODWHO\��DOO� 

&� 7KLV�VHQWHQFH�LV�FRUUHFW�� 

������7KH�ZRPHQ�ZHQW�ERZOLQJ��WKH\�DOVR�ZHQW�WR�WKH�PRYLHV�� 

$� ERZOLQJ�EXW�WKH\� 

%� ERZOLQJ��EXW�WKH\� 

&� 7KLV�VHQWHQFH�LV�FRUUHFW�� 

������7KH�HQG�RI�WKH�VFKRRO�\HDU�LV�FRPLQJ�WKH�SURIHVVRU�GRHV�QRW�NQRZ�P\�QDPH�� 

$� FRPLQJ��7KH� 

%� FRPLQJ��WKH� 

&� 7KLV�VHQWHQFH�LV�FRUUHFW�� 

Further Assistance��)RU�PRUH�GHWDLOHG�KHOS�RU�LI�\RX�KDYH�TXHVWLRQV��YLVLW�WKH�:ULWLQJ�&HQWHU�ORFDWHG�

LQ�WKH�/HZLV�8QLYHUVLW\�/LEUDU\�RU�FDOO����-���-������ 
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